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The question paper is in the form of test booklet. All candidates will be assessed on identical questions.
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Read the instructions on the OMR sheet carefully. Use only ball Point Pen (Black or Biue) for writing /
shading / bubble on OMR sheet and marking your answers.

|
;
1
|
|
]
!

3. @it woATiRrE! 3 a6 [ e TR e ST OMR S siie e st when ) vl w, ffe R S a
OMR 3T T2 %l Wi a1 YeT OMR 3 e 1 frierss =01 2 aun gy wfafrf &1 s1o ma )

A separate OMR answer sheet with carbon impression is provided to all the candidates for answering. On
completion of the test tear the OMR Answer sheet along the perforation mark at the top and handover the
original OMR answer sheet to the invigilator and retain this duplicate copy with you.
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Each objective question is provided with a text and/or figures wherever applicable with multiple answer
choices (a), (b), {c) and (d). Only one of them is correct.
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1. 3 g8 OPAMP uftwy = uieher s
Compute the output of the OPAMP circuit given below

®
Rf 4K
7 +‘12 v
2
= /\9/;{/\’ a s
— B , ———utput
3y "
"4
12V
(a) -3V (by 4.5V (c)y +9V (dy Zero
2. i T gu iy g
Identify the circuit given below
|1
ce T
. +12V
vi 2
_._._/\M, —
Rl & v
E:-—-—————S +
- ]
4| -12V
(a) 3Gk / Differentiator (b) @Hﬁ'ﬁf;’ Comparator
(o) e / Clipper (d) HHERSE / Integrator
3. I HI Ty Jarwret & < wften st Sl ) et feran wrar 87
Which gas is produced during charging a lead-acid battery?
(a)  ®EerH/ Hydrogen (b) #I9/ Methane
(¢)  H#HSE / Oxygen (d) =Te B3 HATHERE / Carbon dioxide
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Aezardy 31 gTEar 1 gehlS B |

The Unit for sensitivity of Voltmeter is
w/ Aee / Amp/Volt (b)  SmE /diee/ Ohms/Volt
Fwz/ u / Volt/Amp (d)  T/3EH/ Amp/Ohm

DVM (371 dieenrdt) T 1.4958 V =1 T3t Fid L @ o diet

The display of 1.4958 V on a DVM (Digital Volt Meter) indicates that the meter 1s

(a)

()

31 37 / digit (b) 41 I/ digit

4 315 / digit (d) 61 I/ digit

Hieed 1 UfsHaT o ST, e fhehl ThdT 8¢

During soldering process, flux prevents

(a)
(b)
(c)
(d)

A9 59 BHT1 / Temperature reduction
FHiwgree wiur / Oxide formation
H&IRT / Corrosion

Yloed Icoedad 21/ Spilling of solder

8051 &H Fese g (TTIsh o TeTa) WRlfeddi =l gea

The number of interrupts handled by 8051 microcontroller (other than Reset) is

4 by 8 ( b @ 7
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8. U SIS H Yo B TR g
A transducer's function in general is to
(a) Tostel =t =1 G=R @ B / Transmit electrical energy
(b) =1 B FeeH/ Convert energy
(¢) TRl et 1 IcEH T / Produce mechanical energy
(D) HHI Y418 U1 / Prevent current flow
9. Triaies o diHg glasmr Far?
Which of following represent active transducer?
(a) %?f%urrrq%/ Strain gauge (b) AT TqUEF / Thermistor
(c) wAHISIZ/ LVDT : (dy <M aeg-rr g/ Thermocouple
10.  3PR 2F |enie & 1C 3T 8, aF efdel # diezar o afeser i)
If a 2F capacitor has 1C charge, calculate the voltage across its terminals.
(ay 056V (by 2V
€ 15V @ 1V
11, ueh 372 e fawanrll =i foraelt arfbiam aman 7
Maximum efficiency of a half-wave diode rectifier is
(a) 33.3% (by 40.6%
() 75.2% (dy 90%
TE-01
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12. Dsoﬁ(méwﬁmﬁ)mmmmmmwmwmmmw%?

In a DSO (Digital Storage Oscilloscope), the time scale of a waveform can be increased or
decreased using

(a) ST/ Vertical control (by for e/ Trigger control

(c) THehd® / Cursor () & T/ Horizontal Control
13, Uk g8 e wlatiees o 99 ter 1206 el et B

In a surface mount resistor, the packa.ge number 1206 represents

{a) HAMEM / Dimension

(b) T e W wiqueet h H= / Number of resistors in the Reel
{c) el HIHd / Voltage rating
() Hﬁﬁ%‘{&ql Resistor value

14. 3 amar 1 T TUTEH )
Tack Strength is one of the important property of
(a)  HIeeH €l / Soldering Iron (b) TMEE / Flux
(c)  Hieelwdl / Solder Paste (d) =it/ PCR
15, sftael diest siie gd war 2|

Cold solder joint refers to

(a) SMD Hieet / soldering
(b) 7% ST Gieard / Through hole soldering
(©) Ales 4 a1y / Soldering Defect

(d)  <EEEEAT/ Crimping

. TE-01 | 6 March 2019
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16,  vaefe ity § swumenss JAfeeT 6 & T B
Negative feedback in amplifier circuit is to provide

{a) a9 Heha § I@iadl / Increase in input signal
{b) GICEIEREDED I Temperature control

(¢ «ifsydgls/ Increase Gain

(d) @mﬁr—orﬁgm/ Improved Stability

17, eyl i e sa & i RR T3 208 SR el ) 3 0 T 3

Widely used Receiver Architecture in communication systems is

(a) GH=d RF I / Tuned RF Receiver
(b) %é)@ =7 AIRAMET / Heterodyne Receiver
(c) el TR SHHATEL / Direct conversion Receiver

(1)  3IIH U H IS T/ None of the above

18. IRl UREY I < ST o fore B

Balun circuit is used to interconnect

(a)  HHTY 1@V BH18 @1 9% / Coaxial line to Coaxial Line
(b) TS ARG H e qR W T / Twin wires line to Twin wires line
(c) HATET TET | WW@TW/ Coaxial to Twin wires line

{d) et I Y a0 9iereR 9% / Twin wires line to Waveguide

19, TTeR WeRTRTeR T O U ST ouueh B9 8 TN TRt ST ST W Hid Bl

Widely used light source in Fibre Optic Communication systems is

(a) B U/ Visible light (by U/ Ultra Violet

(c)  3aGE/ Infra Red (d) UHE TR/ X-Ray

TE-01 7 March 2019
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20.  WEF IR o9 POB w1 oras Jerar 27

A proper conformal coating prevents PCB from .
(a) @8N/ Corrosion (b) =T/ Humidity
(c) T4 yided / Environmental Stress (d) 39T @4 / All the above

21 o PR dtedar e | Rl o dteear wmfier & s a2

The prime advantage of servo controlled voltage stabilizer over other voltage stabilizer is

() < sleear GINeH / Faster voltage correction
(b)  HARE AR FSH / Size and weight
(c) aM / Cost

(d) 341?{% AT / Frequency dependent

22, TH ORI 4 83w 2 & e somar & ot 3 3 0 & syent Tly ®

An OR gate has 4 inputs. One input is high and the other three are low. The output is

(a) HH/low

(b) &1/ high

(c) RIS STl 3 FH/ alternately high and low

(d) T o iy g 3 e W 3= a1 e @ sl / may be high or low depending on

relative magnitude of inputs

23. o9 g o vifer suem stevass B & fore Frferfion o @ =5 o as ufar st 27

Which of the following logic families are preferable in systems requiring low power
consumption?

(a) TTL (b) CMOS © MOS @ ECL

TE-01 8 March 201
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URL =1 o1 314 27
URL Stands for

(a) Universal Resource Locator
(b)  Uniform Resource Locator
(©) Uniform Resource Label

(d)  Umnmiversal Research Locator

25. 398 U HH |1 Ak gk TE 87
Which of these is NOT a networking dévice?

(a) TS/ Router (b) &g/ Switch

(¢) ERRETE/ Firewall (d) =/HUB

26. ISt AT Feraeer w1 3T foRw o e B 7
Emitter Follower configuration is used for

{a) uﬁmmuﬁgaq/ Impedance Matching

(b)  feear W€ / Voltage Amplification
(c) TR 5al / Power Amplification

(@ 39w 98 % TE/ / None of the above

27, EH GUTE GRS Yad i Sieedr afsy =

Voltage gain of Common Collector configuration based Amplifier is

{a) 3]31%5 AT/ Bqual to Zero (b) 138"/ Lessthan 1

(¢) 10T 50TF /10 to 50 () 50T IR/ Greater than 50

TE-01 9
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28.

29.

30.

31.

32.

wh XOR 712 1 JT8 L7 & Toru &0 © = Frat g 4 NAND ¢ 9rfzu?

Find the minimum number of NAND gates required to realise a XOR gate?

(@ 2 ® 6 () 5 (d) 4

T AR TGS § SR Yenor sy |

The basic storage element in a digital system is :

(@) TR I / Flip flop (b) 7R/ Counter

©) E!’g’ﬂ%ﬁ‘? { Multiplexer (@) HIfEH/ Encoder

A synchronous sequential circuit is made up of ' |
(a)  HAISHER/ combinational gates () Taewfal/ latches

() 99w / flip-flops (d) 3 (a) ¥ (¢) / both (a) and (¢)

T Uit TR %1 58 <R 7R o) TTaRE F R 2 |

Shifting a register content to right by one bit position is equivalent to

(a) & @ fqaeH / Division by two (b) =¥ e/ Addition by two

(c) Q@WW/ Multiplication by two  (d) @i ¥ <Ia&her / Subtraction by two

5%@%3@@%‘&%%? Bl B

A ring counter with 5 flip flops will have
() 5 I/ states (b) 10 3T states

(c) 32 I / states (d)  34-d IFEANW / infinite states
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34.

35.

36.

TE-01

The Internet can be best associated with

() @ HTIL TR Efﬁ EReIEy _31,?;3 B/ Two computers connected to each other

(b) EaRIrGERE REA) Ohl-bei\diﬁ =l Teh |19 931/ All Computers connected in office
{c) Wﬁﬁ?ﬁﬁﬁmﬁm 1 4¢a% / Network of all computers connected in India

{d) %U{& % If5ereh deah 1 gER a A 8l @A/ Global network of computers connected by

communication systems

Tferiiaa o o) 1 Tt Headh B Feted T 87

Which of the following is not related to social networking?

(a) e/ Twitter (b) @@/ Hotmail
(c)  %HH / Facebook (d) fTReA/ LinkedIn
MS Excel § F#aeh I G B

In MS Excel, a workbook is a group of
(a) AT 3 & / Rows and Columns

by  EA/ Cells
(¢)  dogile / Worksheets
(d) 39T T H ®E TE / None of the above

ST AT =TS 1 Y07 3 | o Yot o gt i & fore =1d o wesf s 8, 7 o - Eq
IR G|

If you have to display chart to compare values that represent parts of a whole, you will use

(a) AR/ Bar Chart ‘ (by WIEEM/ Pie chart
(c) e / Line chart (d) R / Scattergram

11 March 2019
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37. W 120 Ah &war it 3= saEfe g 8 A gm0 2 el 2|
A 120 Ah capacity battery can deliver a current of 8 A for a period of
(a) 20/ hrs (b) 15621/ hrs
(¢)  12¥2l/hrs (d) 8% /hrs

38.  v-Tma ulgy fisis (BLCB) =9 @ fiera ©wm s 87
Earth Leakage circuit breaker (ELCB) works on the principle of
(a) IR 9/ / Overload current
(b)  HUNUY 91 / Short circuit current |
(c) 1P &/ Residual current
(d)  3IHH g/ Neutral current ;

39. el e ufiiew 52 H1 T W ¥ faw, A % &y § Feif PR 2|
In order to increase the ampere- hour rating of a battery, the cells are connected in 1
(1)  HEeeHs / series (b) WA/ parallel | }
{c) %1'@?{@55 - IO / series-parallel (dy 9T/ star

40. T TR H aK 9w w1 e w5 i S ek 27

Eddy current loss in a transformer can be reduced by

(a)
(b)
(©
(d)

WEFT =hl il ML / increasing the thickness of the laminations
Waﬁ@ﬁmaﬁqm/ decreasing the thickness of the laminations ' |

3= ST A1 %WQWﬁm/ winding the coils with a higher gauge wire

@asﬁatr&qaﬁmaﬁ STl T HE H / decreasing the air-gap in the magnetic circuit:
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41.

42.

43.

44,

TRRTTRTER 191 T Fig T g B

Core of the optical Fibre is made out of

(a) aF/ Air (b) @&/ Copper

{c) i [ Glass () Eﬂi}?/ Quartz

1911 WERTITe T ST SHATIRYE O T B

In Fibre Optic Communications, basic principle of operation is based on

(a)  ITEVIYT/ Absorption (b) HehIUiA/ Attenuation

(c)  Taieh gidfs / Internal Reflection (d) T9EET / Refraction

< faforei aiforex 4 udt & o e feen s 8, o 9 Scusls B (Vee) S61 HH el
21

When Silicon Transistor is biased properly, the Veg value for Common Emitter configuration

is about »

(2) 0.7V () 03V © o0V @ 5V

T U Scesieh CTSTEeX fomame o €I STUT To/Ty okl ol shad 27

In common emitter transistor configuration, a current Ratio Ic/lvis called as

(a) T/ Beta (b) HAHI/ Alpha

{¢) T/ Gamma (d) T/ Theta

TE-01 ' 13 Marech 2019
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45.

46.

47.

TE-01

| T o 9T SRE

%ﬁawﬁaﬁmﬁm%wmm%l

Varactor Diode acts a variable Capacitance under

(a) 310 ARAE / Forward Bias
(b) JearH T / Reverse Bias

(¢) =M 3 3N 3T ARART/ Both in Forward and Reverse Bias
(d) I APH / Zero Bias

7905 <t sl el ffn Socarmr 27
What is the expected regulated output voltage of 7905 ?

{a) 9V (b) -5V (© .5V (d) -9v

EERRCERRCR VR R e S g —— Vo 1 W ) BEAW deed wmr a9 2w
Vi=10sinat. Vy =1V 3 3fcam oo i (v,) srire w1 smae shez o 7TV 2

For the circuit shown below identify the correct output Vous - The input voltage is a sine wave
where V; =10sin wt. V, =1V and assume forward voltage (V}) of diode is 0.7 V.

Vi

(a) > 1.7 Vﬁ"—h’ch’pped
(b) 1V DC 39167 1 fen / shift in the output
(©) ) Wﬁmﬁ?ﬁ / half wave rectified output

(d <17 VHF/ clipped

14 March 2019
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48. I ‘&’ B EATHw Fii S o T A | 27
What is the formula to determine the transformation ratio k’?
@ kN E_L R . A A
Nl El Il R El EZ Il
I ’
(c) Kzﬁziizé @ K:f;\i:&:_&
Il ) Nl 1 Nl El IZ
49.  uwe e Wit & sAfrenariitendr ) forervar ag 2 fe
One of the characteristics of a single phase motor is that it
(a) 98 T@YH &/ is self-starting
(b) B UG A8 © / is not self-starting
(c) 3% Torh U oue e / requires only one winding
() Tadhumfamd ‘Tﬁ:{ T ekl 2 / can rotate in one direction only
50.  fcass =Ieiek H ferega am o WATE o ST BT B
Electric current in a metallic conductor is due to flow of
(a) %o 392 &/ Electrons only
(b)  haet GTcH 39194 / Positive lons only
(©) TAFeA ST G TR ¥/ Electrons and positive ions
(d) Had ?{ﬁ:f 2/ Neutrons only
51. w100 V Rmat i AC &1yl o E
A 100V peak AC has effective value as
(a) 100V (by 1414V
() 707V d) 50V
TE-01 15
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53.

54.

5h.

56.

TE-01

e e 6 s e P s g &0

In single phase induction machine, the centrifugal switch is connected in
(2) e TScll TAFTH / Parallel with main winding

(b)  F9 FEel e d / Series with Main winding
(c) WW@WI\? / Parallel with Starting winding
(d)  Tmfies § oIk %@'@T T/ Series with Starting winding

TS THTS AT <6t gt o) oy 3 saedt 2)
converts assembly language into machine language
(a)  GHer/ Compiler (b) WHTEITH / Assembler
{c) ik / Loader - (d) 5 ¥ L 9/ None of these

1 KB (et arden) =t oaeta
1 KB (Kilo Bytes) equals

(a) 1000 Bytes (b) 100 Bytes (cy 10MB (d) 1024 Bytes

Terer wereT T o el e st 27
Windows Explorer is used for

(a) TR/ Internet Browsing

(b)  THIECW U Wiesl % Yaee %ﬂ { Manage Files and Folders
(c) g=07 % T / Managing Printers

(d) T4 8% 7 / None of these

USB % 19 3

USB Stands for .

(a) Unique Standard Bus (b)  Universal Serial Bus
(c) Universal Standard Bus (d)  United Serial Bus

16 March 2019
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57. W& SCR < frad o< frar =imar 2
An SCR may be turned OFF by :
(a) I dlcedl o ¥ i Hehlaet / Removing the Gate Voltage pulse
(b)  Shels dicean I UATS diced] 4 %% / By redueing its anode to cathode voltage | ;i
(c) UREHWHF 9N %9 FF / By reducing the current below the holding value :}
() 39l Edi/ ALl the above
58.  TGBT, Frafrfam i @ 29 & < oo 3 v oma 93 37
IGBT has the combined advantages of the which of the following two components?
(a)  OPAMPs 3t grig / OPAMPs and Diodes
(b)  FETs 3Rz / FETs and TRIACs
(0 MOSFETs 3 /and BJTs 9
(d)  BJTs 3/ and DIODEs
59.  eRTeT ST ¥ fore A AT ST 8 37
The region of operation for a photo diode is . |
(a)  3ehu ARMAR/ Reverse Bias (b) 3w ARER / Forward Bias i
() el i / Open Circuit (d) emMuiay / Short-Cireuit ‘
60. 3T ITEHICiet Ifh T B U ATeA i £ 7
Opto-Isolator device consists of the following device/devices
(a)  emETE A IfdHE / Diodes and resisters
(b)  waHe IR TG / Amplifiers and Capacitors
(©  LEDs U % ¥ / LEDs and photo-diodes |
() SHEEE AR LED / Laser diodes and LEDs ;
f. |
TE-01 17 March 2019 |
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All objective type questions carry equal marks of THREE for a correct answer, ZERO for no answer and
MINUS ONE for wrong answer. Multiple answers for a question will be regarded as a wrong answer.

6. g gfeent =i 1T T S0 % B W A 91 B M ¢ w1 D Tufga foren w8, 5% OMR wfie @, fess § formn qen
ﬂmwwaﬁm&%lwqaﬁw,wwg&éﬁﬂm@mﬁ%mw|

Question booklets have been marked with A or B or € or D on the right hand top corner, which is mandatory
to be written on the OMR sheet in the box and bubble appropriately, failing which, the answer sheet will not
be evaluated.

ofy svrerver g1, 9 IR T 3ueTsy TS o el i<k Tt IUReT for ST Hehan B | oTe § wite 6 faan s

Space available in the booklet could be used for rough work, if required. No separate sheet will be provided.

IUEHd zfie U ewrar U & vee, Tl h St T g wie fore B | where o e m F wer s
FEATE A B ;%

Before signing the attendance sheet, the candidate should write the Booklet Code in the attendance sheet. 1‘
Candidates should sign against THEIR names only.

9. wladH AT (1) Bl wiEa fafaa whiam goman o (2) gof OMR 3 e &1 Fiitesn =t aroe = qem freft o afdfafy
F uftereff 58 7o =)

At the end of the test (1) Written fest Call Letters(s) with phbtograph pasted on it {2) Original OMR Answer
Sheet shall be returned to the Invigitator and shailt not be carried by the candidate under any circumstances.

10, f& wurarer & fid=m & gest 4§ Gt oft wfdera /faam 99 % we 1, =i waiquor g€ g sme)

In case of any ambiguity/ dispute arises on account of interpretation of Hindi version, English version shall
finally prevail.
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